
0 100 200 300 400 500 600

0.
00

0
0.

00
2

0.
00

4
line = MAGIC.433 , Chr = 1

breakpoint: 4274377 − 4274469 kn−0 ct−1
Insert size

D
en

si
ty

100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4

line = MAGIC.433 , Chr = 1

breakpoint: 8408881 − 8408884 ct−1 hi−0
Insert size

D
en

si
ty

100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4
0.

00
6

line = MAGIC.433 , Chr = 1

breakpoint: 8718602 − 8718621 hi−0 ct−1
Insert size

D
en

si
ty

100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4
0.

00
6

line = MAGIC.433 , Chr = 1

breakpoint: 10897305 − 10897414 ct−1 hi−0
Insert size

D
en

si
ty



100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4
0.

00
6

line = MAGIC.433 , Chr = 1

breakpoint: 11585094 − 11585113 hi−0 ct−1
Insert size

D
en

si
ty

−2000 2000 6000 10000

0.
00

00
0

0.
00

01
0

0.
00

02
0

line = MAGIC.433 , Chr = 1

breakpoint: 12389055 − 12389058 ct−1 hi−0
Insert size

D
en

si
ty

0 100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4

line = MAGIC.433 , Chr = 1

breakpoint: 12762789 − 12762877 hi−0 ct−1
Insert size

D
en

si
ty

0 100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4
line = MAGIC.433 , Chr = 1

breakpoint: 12898046 − 12898082 ct−1 hi−0
Insert size

D
en

si
ty



100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4
0.

00
6

line = MAGIC.433 , Chr = 1

breakpoint: 12986780 − 12986869 hi−0 ct−1
Insert size

D
en

si
ty

0 100 200 300 400

0.
00

0
0.

00
2

0.
00

4
0.

00
6

0.
00

8

line = MAGIC.433 , Chr = 1

breakpoint: 13089379 − 13089409 ct−1 rsch−4
Insert size

D
en

si
ty

100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4

line = MAGIC.433 , Chr = 1

breakpoint: 13202762 − 13202815 rsch−4 ct−1
Insert size

D
en

si
ty

100 200 300 400

0.
00

0
0.

00
2

0.
00

4
0.

00
6

line = MAGIC.433 , Chr = 1

breakpoint: 13544814 − 13544830 ct−1 wil−2
Insert size

D
en

si
ty



0 100 200 300 400 500

0.
00

0
0.

00
1

0.
00

2
0.

00
3

0.
00

4
line = MAGIC.433 , Chr = 1

breakpoint: 13588333 − 13588341 wil−2 oy−0
Insert size

D
en

si
ty

0 100 300 500

0.
00

0
0.

00
2

0.
00

4

line = MAGIC.433 , Chr = 1

breakpoint: 13613105 − 13613127 oy−0 wil−2
Insert size

D
en

si
ty

0 100 300 500

0.
00

0
0.

00
1

0.
00

2
0.

00
3

0.
00

4

line = MAGIC.433 , Chr = 1

breakpoint: 13684588 − 13684589 wil−2 ct−1
Insert size

D
en

si
ty

100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4
0.

00
6

line = MAGIC.433 , Chr = 1

breakpoint: 14191068 − 14191176 ct−1 oy−0
Insert size

D
en

si
ty



100 200 300 400

0.
00

0
0.

00
2

0.
00

4
0.

00
6

line = MAGIC.433 , Chr = 1

breakpoint: 15008809 − 15008861 oy−0 ct−1
Insert size

D
en

si
ty

50 100 200 300 400

0.
00

0
0.

00
2

0.
00

4
0.

00
6

line = MAGIC.433 , Chr = 1

breakpoint: 15081317 − 15081337 ct−1 rsch−4
Insert size

D
en

si
ty

100 200 300 400

0.
00

0
0.

00
2

0.
00

4
0.

00
6

line = MAGIC.433 , Chr = 1

breakpoint: 15652632 − 15652772 rsch−4 oy−0
Insert size

D
en

si
ty

0 100 200 300 400 500

0.
00

0
0.

00
1

0.
00

2
0.

00
3

line = MAGIC.433 , Chr = 1

breakpoint: 15870810 − 15871783 oy−0 zu−0
Insert size

D
en

si
ty



100 200 300 400

0.
00

0
0.

00
2

0.
00

4
0.

00
6

line = MAGIC.433 , Chr = 1

breakpoint: 15879826 − 15879828 zu−0 mt−0
Insert size

D
en

si
ty

0 5000 15000 25000

0.
00

00
0.

00
10

0.
00

20

line = MAGIC.433 , Chr = 1

breakpoint: 16005293 − 16005299 mt−0 ct−1
Insert size

D
en

si
ty

100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4

line = MAGIC.433 , Chr = 1

breakpoint: 16032147 − 16032236 ct−1 mt−0
Insert size

D
en

si
ty

100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4
line = MAGIC.433 , Chr = 1

breakpoint: 16125533 − 16125580 mt−0 ct−1
Insert size

D
en

si
ty



100 200 300 400

0.
00

0
0.

00
2

0.
00

4
0.

00
6

line = MAGIC.433 , Chr = 1

breakpoint: 17654659 − 17654779 ct−1 wu−0
Insert size

D
en

si
ty

100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4
0.

00
6

line = MAGIC.433 , Chr = 1

breakpoint: 18127366 − 18127434 wu−0 hi−0
Insert size

D
en

si
ty

100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4

line = MAGIC.433 , Chr = 1

breakpoint: 19034869 − 19034874 hi−0 wu−0
Insert size

D
en

si
ty

100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4
line = MAGIC.433 , Chr = 1

breakpoint: 19372882 − 19372938 wu−0 ler−0
Insert size

D
en

si
ty



0 200 400 600

0.
00

00
0.

00
10

0.
00

20
0.

00
30

line = MAGIC.433 , Chr = 1

breakpoint: 20107022 − 20107046 ler−0 can−0
Insert size

D
en

si
ty

100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4
0.

00
6

line = MAGIC.433 , Chr = 1

breakpoint: 20735593 − 20735994 can−0 ler−0
Insert size

D
en

si
ty

0 100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4

line = MAGIC.433 , Chr = 1

breakpoint: 22252850 − 22252862 ler−0 can−0
Insert size

D
en

si
ty

150 250 350 450

0.
00

0
0.

00
4

0.
00

8
line = MAGIC.433 , Chr = 1

breakpoint: 22624749 − 22624810 can−0 ler−0
Insert size

D
en

si
ty



100 200 300 400

0.
00

0
0.

00
2

0.
00

4
0.

00
6

line = MAGIC.433 , Chr = 1

breakpoint: 22890831 − 22890862 ler−0 can−0
Insert size

D
en

si
ty

100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4

line = MAGIC.433 , Chr = 1

breakpoint: 23267065 − 23267068 can−0 ler−0
Insert size

D
en

si
ty

100 200 300 400

0.
00

0
0.

00
2

0.
00

4

line = MAGIC.433 , Chr = 1

breakpoint: 23813492 − 23813729 ler−0 can−0
Insert size

D
en

si
ty

100 200 300 400 500 600

0.
00

0
0.

00
2

0.
00

4
line = MAGIC.433 , Chr = 1

breakpoint: 24175755 − 24175758 can−0 ler−0
Insert size

D
en

si
ty



0 100 200 300 400

0.
00

0
0.

00
2

0.
00

4
line = MAGIC.433 , Chr = 1

breakpoint: 24586183 − 24586188 ler−0 can−0
Insert size

D
en

si
ty

0 100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4

line = MAGIC.433 , Chr = 1

breakpoint: 25041014 − 25041031 can−0 ler−0
Insert size

D
en

si
ty

100 200 300 400

0.
00

0
0.

00
2

0.
00

4

line = MAGIC.433 , Chr = 1

breakpoint: 25885943 − 25886238 ler−0 sf−2
Insert size

D
en

si
ty

100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4
line = MAGIC.433 , Chr = 1

breakpoint: 26395434 − 26395509 sf−2 ler−0
Insert size

D
en

si
ty



100 200 300 400

0.
00

0
0.

00
2

0.
00

4
0.

00
6

line = MAGIC.433 , Chr = 2

breakpoint: 67061 − 67077 po−0 sf−2
Insert size

D
en

si
ty

100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4
0.

00
6

line = MAGIC.433 , Chr = 2

breakpoint: 725295 − 725296 sf−2 ws−0
Insert size

D
en

si
ty

0e+00 2e+05 4e+05 6e+05

0.
00

0
0.

00
4

0.
00

8

line = MAGIC.433 , Chr = 2

breakpoint: 793984 − 794030 ws−0 sf−2
Insert size

D
en

si
ty

100 200 300 400

0.
00

0
0.

00
4

0.
00

8
line = MAGIC.433 , Chr = 2

breakpoint: 1414944 − 1415184 sf−2 kn−0
Insert size

D
en

si
ty



100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4
line = MAGIC.433 , Chr = 2

breakpoint: 1528590 − 1528592 kn−0 sf−2
Insert size

D
en

si
ty

100 200 300 400

0.
00

0
0.

00
2

0.
00

4
0.

00
6

line = MAGIC.433 , Chr = 2

breakpoint: 1587624 − 1587632 sf−2 kn−0
Insert size

D
en

si
ty

100 200 300 400

0.
00

0
0.

00
2

0.
00

4
0.

00
6

line = MAGIC.433 , Chr = 2

breakpoint: 1981450 − 1981452 kn−0 sf−2
Insert size

D
en

si
ty

100 200 300 400

0.
00

0
0.

00
2

0.
00

4
line = MAGIC.433 , Chr = 2

breakpoint: 2012584 − 2014228 sf−2 kn−0
Insert size

D
en

si
ty



100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4
line = MAGIC.433 , Chr = 2

breakpoint: 2959873 − 2959880 kn−0 sf−2
Insert size

D
en

si
ty

100 200 300 400 500 600

0.
00

0
0.

00
2

0.
00

4

line = MAGIC.433 , Chr = 2

breakpoint: 3604544 − 3604584 sf−2 kn−0
Insert size

D
en

si
ty

0 100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4

line = MAGIC.433 , Chr = 2

breakpoint: 4068465 − 4068471 kn−0 sf−2
Insert size

D
en

si
ty

100 200 300 400

0.
00

0
0.

00
2

0.
00

4
0.

00
6

line = MAGIC.433 , Chr = 2

breakpoint: 4139755 − 4139758 sf−2 kn−0
Insert size

D
en

si
ty



100 200 300 400

0.
00

0
0.

00
2

0.
00

4
0.

00
6

line = MAGIC.433 , Chr = 2

breakpoint: 4437376 − 4437404 kn−0 sf−2
Insert size

D
en

si
ty

100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4

line = MAGIC.433 , Chr = 2

breakpoint: 4467960 − 4467968 sf−2 kn−0
Insert size

D
en

si
ty

100 200 300 400

0.
00

0
0.

00
2

0.
00

4

line = MAGIC.433 , Chr = 2

breakpoint: 4807809 − 4807816 kn−0 sf−2
Insert size

D
en

si
ty

100 200 300 400

0.
00

0
0.

00
2

0.
00

4
0.

00
6

line = MAGIC.433 , Chr = 2

breakpoint: 4923610 − 4923642 sf−2 kn−0
Insert size

D
en

si
ty



100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4
line = MAGIC.433 , Chr = 2

breakpoint: 5365832 − 5365836 can−0 ws−0
Insert size

D
en

si
ty

0 100 200 300 400

0.
00

0
0.

00
2

0.
00

4

line = MAGIC.433 , Chr = 2

breakpoint: 5407273 − 5407299 ws−0 can−0
Insert size

D
en

si
ty

0 100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4

line = MAGIC.433 , Chr = 2

breakpoint: 5515430 − 5515442 can−0 kn−0
Insert size

D
en

si
ty

100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4
line = MAGIC.433 , Chr = 2

breakpoint: 5882563 − 5882639 kn−0 ler−0
Insert size

D
en

si
ty



0 100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4
line = MAGIC.433 , Chr = 2

breakpoint: 6004311 − 6004322 ler−0 kn−0
Insert size

D
en

si
ty

0 100 200 300 400

0.
00

0
0.

00
2

0.
00

4

line = MAGIC.433 , Chr = 2

breakpoint: 6076486 − 6076497 kn−0 ler−0
Insert size

D
en

si
ty

0 100 200 300 400 500 600

0.
00

0
0.

00
2

0.
00

4

line = MAGIC.433 , Chr = 2

breakpoint: 6484203 − 6484204 ler−0 kn−0
Insert size

D
en

si
ty

100 200 300 400

0.
00

0
0.

00
2

0.
00

4
line = MAGIC.433 , Chr = 2

breakpoint: 8513567 − 8513571 kn−0 bur−0
Insert size

D
en

si
ty



100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4
line = MAGIC.433 , Chr = 2

breakpoint: 8513754 − 8513767 bur−0 wil−2
Insert size

D
en

si
ty

100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4

line = MAGIC.433 , Chr = 2

breakpoint: 8562027 − 8562091 wil−2 ct−1
Insert size

D
en

si
ty

100 200 300 400

0.
00

0
0.

00
2

0.
00

4

line = MAGIC.433 , Chr = 2

breakpoint: 8566565 − 8566581 ct−1 wil−2
Insert size

D
en

si
ty

100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4
line = MAGIC.433 , Chr = 2

breakpoint: 8974744 − 8974775 wil−2 ler−0
Insert size

D
en

si
ty



−1000 1000 3000 5000

0e
+

00
2e

−
04

line = MAGIC.433 , Chr = 2

breakpoint: 9057169 − 9057173 ler−0 kn−0
Insert size

D
en

si
ty

100 200 300 400

0.
00

0
0.

00
4

0.
00

8

line = MAGIC.433 , Chr = 2

breakpoint: 9445689 − 9445700 kn−0 ler−0
Insert size

D
en

si
ty

100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4
0.

00
6

line = MAGIC.433 , Chr = 2

breakpoint: 9850257 − 9850275 ler−0 oy−0
Insert size

D
en

si
ty

100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4
line = MAGIC.433 , Chr = 2

breakpoint: 10210650 − 10210657 oy−0 kn−0
Insert size

D
en

si
ty



100 200 300 400

0.
00

0
0.

00
2

0.
00

4
line = MAGIC.433 , Chr = 2

breakpoint: 10533097 − 10533098 kn−0 oy−0
Insert size

D
en

si
ty

100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4
0.

00
6

line = MAGIC.433 , Chr = 2

breakpoint: 10761152 − 10761287 oy−0 kn−0
Insert size

D
en

si
ty

100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4

line = MAGIC.433 , Chr = 2

breakpoint: 11943484 − 11943486 kn−0 tsu−0
Insert size

D
en

si
ty

100 200 300 400

0.
00

0
0.

00
2

0.
00

4
0.

00
6

line = MAGIC.433 , Chr = 2

breakpoint: 12239206 − 12239210 tsu−0 kn−0
Insert size

D
en

si
ty



100 200 300 400

0.
00

0
0.

00
4

0.
00

8
line = MAGIC.433 , Chr = 2

breakpoint: 12294462 − 12294463 kn−0 tsu−0
Insert size

D
en

si
ty

100 200 300 400

0.
00

0
0.

00
2

0.
00

4
0.

00
6

line = MAGIC.433 , Chr = 2

breakpoint: 13394219 − 13394289 tsu−0 kn−0
Insert size

D
en

si
ty

100 200 300 400

0.
00

0
0.

00
2

0.
00

4

line = MAGIC.433 , Chr = 2

breakpoint: 14675624 − 14676471 kn−0 tsu−0
Insert size

D
en

si
ty

100 150 200 250 300 350 400

0.
00

0
0.

00
2

0.
00

4
0.

00
6

line = MAGIC.433 , Chr = 2

breakpoint: 17163994 − 17163995 tsu−0 can−0
Insert size

D
en

si
ty



100 200 300 400

0.
00

0
0.

00
2

0.
00

4
0.

00
6

line = MAGIC.433 , Chr = 2

breakpoint: 18340686 − 18340693 can−0 bur−0
Insert size

D
en

si
ty

100 200 300 400

0.
00

0
0.

00
2

0.
00

4
0.

00
6

line = MAGIC.433 , Chr = 3

breakpoint: 760051 − 760060 tsu−0 sf−2
Insert size

D
en

si
ty

100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4
0.

00
6

line = MAGIC.433 , Chr = 3

breakpoint: 992684 − 992686 sf−2 tsu−0
Insert size

D
en

si
ty

100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4
line = MAGIC.433 , Chr = 3

breakpoint: 1786263 − 1786373 tsu−0 ler−0
Insert size

D
en

si
ty



100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4
line = MAGIC.433 , Chr = 3

breakpoint: 1806089 − 1806221 ler−0 tsu−0
Insert size

D
en

si
ty

100 200 300 400 500 600

0.
00

0
0.

00
2

0.
00

4

line = MAGIC.433 , Chr = 3

breakpoint: 2059770 − 2059771 tsu−0 ct−1
Insert size

D
en

si
ty

100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4

line = MAGIC.433 , Chr = 3

breakpoint: 2217043 − 2217262 ct−1 hi−0
Insert size

D
en

si
ty

100 200 300 400

0.
00

0
0.

00
2

0.
00

4
line = MAGIC.433 , Chr = 3

breakpoint: 4752219 − 4752329 hi−0 sf−2
Insert size

D
en

si
ty



100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4
line = MAGIC.433 , Chr = 3

breakpoint: 5440043 − 5440057 sf−2 hi−0
Insert size

D
en

si
ty

100 200 300 400

0.
00

0
0.

00
2

0.
00

4
0.

00
6

line = MAGIC.433 , Chr = 3

breakpoint: 7882060 − 7882064 hi−0 sf−2
Insert size

D
en

si
ty

150 200 250 300 350 400

0.
00

0
0.

00
4

0.
00

8

line = MAGIC.433 , Chr = 3

breakpoint: 8232277 − 8232335 sf−2 bur−0
Insert size

D
en

si
ty

100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4
line = MAGIC.433 , Chr = 3

breakpoint: 9058066 − 9058135 bur−0 sf−2
Insert size

D
en

si
ty



100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4
0.

00
6

line = MAGIC.433 , Chr = 3

breakpoint: 9112479 − 9112481 sf−2 bur−0
Insert size

D
en

si
ty

200 250 300

0.
00

0
0.

00
4

0.
00

8
0.

01
2

line = MAGIC.433 , Chr = 3

breakpoint: 9613791 − 9613839 bur−0 oy−0
Insert size

D
en

si
ty

0 100 200 300 400 500

0.
00

00
0.

00
10

0.
00

20
0.

00
30

line = MAGIC.433 , Chr = 3

breakpoint: 9624784 − 9624807 oy−0 sf−2
Insert size

D
en

si
ty

100 200 300 400

0.
00

0
0.

00
2

0.
00

4
0.

00
6

line = MAGIC.433 , Chr = 3

breakpoint: 10463509 − 10463606 sf−2 oy−0
Insert size

D
en

si
ty



150 200 250 300 350 400 450

0.
00

0
0.

00
2

0.
00

4
0.

00
6

line = MAGIC.433 , Chr = 3

breakpoint: 10963312 − 10963313 oy−0 sf−2
Insert size

D
en

si
ty

0 100 200 300 400 500 600

0.
00

00
0.

00
15

0.
00

30

line = MAGIC.433 , Chr = 3

breakpoint: 11112218 − 11112219 sf−2 oy−0
Insert size

D
en

si
ty

100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4
0.

00
6

line = MAGIC.433 , Chr = 3

breakpoint: 12883533 − 12883544 oy−0 ler−0
Insert size

D
en

si
ty

800000 1000000 1400000

0.
0e

+
00

1.
0e

−
06

2.
0e

−
06

3.
0e

−
06

line = MAGIC.433 , Chr = 3

breakpoint: 13108773 − 13108855 ler−0 sf−2
Insert size

D
en

si
ty



100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4
line = MAGIC.433 , Chr = 3

breakpoint: 13153185 − 13153191 sf−2 can−0
Insert size

D
en

si
ty

100 200 300 400

0.
00

0
0.

00
2

0.
00

4

line = MAGIC.433 , Chr = 3

breakpoint: 13205376 − 13205412 can−0 po−0
Insert size

D
en

si
ty

200 300 400 500

0.
00

0
0.

00
2

0.
00

4
0.

00
6

line = MAGIC.433 , Chr = 3

breakpoint: 13268597 − 13268643 po−0 oy−0
Insert size

D
en

si
ty

100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4
line = MAGIC.433 , Chr = 3

breakpoint: 14007563 − 14007583 oy−0 kn−0
Insert size

D
en

si
ty



100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4
line = MAGIC.433 , Chr = 3

breakpoint: 14048151 − 14048258 kn−0 po−0
Insert size

D
en

si
ty

0 100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4

line = MAGIC.433 , Chr = 3

breakpoint: 14328873 − 14328887 po−0 no−0
Insert size

D
en

si
ty

200 250 300 350 400

0.
00

0
0.

00
4

0.
00

8

line = MAGIC.433 , Chr = 3

breakpoint: 14345558 − 14345570 no−0 can−0
Insert size

D
en

si
ty

0 100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4
line = MAGIC.433 , Chr = 3

breakpoint: 14374919 − 14374920 can−0 tsu−0
Insert size

D
en

si
ty



0 200 400 600

0.
00

00
0.

00
10

0.
00

20
line = MAGIC.433 , Chr = 3

breakpoint: 14454524 − 14454546 tsu−0 ws−0
Insert size

D
en

si
ty

−5000000 0 5000000 15000000

0.
0e

+
00

6.
0e

−
08

1.
2e

−
07

line = MAGIC.433 , Chr = 3

breakpoint: 14538802 − 14538804 sf−2 oy−0
Insert size

D
en

si
ty

100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4

line = MAGIC.433 , Chr = 3

breakpoint: 15298853 − 15298923 oy−0 kn−0
Insert size

D
en

si
ty

0 100 200 300 400 500 600

0.
00

00
0.

00
10

0.
00

20
0.

00
30

line = MAGIC.433 , Chr = 3

breakpoint: 15311832 − 15311833 kn−0 oy−0
Insert size

D
en

si
ty



100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4
line = MAGIC.433 , Chr = 4

breakpoint: 874982 − 874988 oy−0 wu−0
Insert size

D
en

si
ty

100 200 300 400

0.
00

0
0.

00
4

0.
00

8

line = MAGIC.433 , Chr = 4

breakpoint: 1349848 − 1350496 wu−0 oy−0
Insert size

D
en

si
ty

−500000 0 500000 1500000

0e
+

00
4e

−
07

8e
−

07

line = MAGIC.433 , Chr = 4

breakpoint: 1612621 − 1612682 oy−0 wu−0
Insert size

D
en

si
ty

100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4
0.

00
6

line = MAGIC.433 , Chr = 4

breakpoint: 1867838 − 1867839 wu−0 oy−0
Insert size

D
en

si
ty



0 200 400 600 800

0.
00

00
0.

00
15

0.
00

30
line = MAGIC.433 , Chr = 4

breakpoint: 2579964 − 2579967 oy−0 wu−0
Insert size

D
en

si
ty

0 100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4

line = MAGIC.433 , Chr = 4

breakpoint: 2840406 − 2840407 wu−0 oy−0
Insert size

D
en

si
ty

100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4

line = MAGIC.433 , Chr = 4

breakpoint: 3609258 − 3609320 oy−0 po−0
Insert size

D
en

si
ty

80 100 120 140 160

0.
00

0.
01

0.
02

0.
03

line = MAGIC.433 , Chr = 4

breakpoint: 4011919 − 4011971 po−0 oy−0
Insert size

D
en

si
ty



150 200 250 300 350 400

0.
00

0
0.

00
4

0.
00

8
line = MAGIC.433 , Chr = 4

breakpoint: 4234155 − 4234240 oy−0 wu−0
Insert size

D
en

si
ty

0 200 400 600

0.
00

0
0.

00
2

0.
00

4

line = MAGIC.433 , Chr = 4

breakpoint: 4320923 − 4320924 wu−0 sf−2
Insert size

D
en

si
ty

−2000 2000 6000 10000

0.
00

00
0

0.
00

01
5

0.
00

03
0

line = MAGIC.433 , Chr = 4

breakpoint: 4572626 − 4572634 sf−2 wu−0
Insert size

D
en

si
ty

100 200 300 400

0.
00

0
0.

00
2

0.
00

4
0.

00
6

line = MAGIC.433 , Chr = 4

breakpoint: 4702421 − 4702464 rsch−4 oy−0
Insert size

D
en

si
ty



100 200 300 400

0.
00

0
0.

00
2

0.
00

4
0.

00
6

line = MAGIC.433 , Chr = 4

breakpoint: 4947938 − 4947948 oy−0 wu−0
Insert size

D
en

si
ty

100 200 300 400

0.
00

0
0.

00
2

0.
00

4
0.

00
6

line = MAGIC.433 , Chr = 4

breakpoint: 5433111 − 5433419 wu−0 ler−0
Insert size

D
en

si
ty

100 200 300 400

0.
00

0
0.

00
2

0.
00

4
0.

00
6

line = MAGIC.433 , Chr = 4

breakpoint: 5845208 − 5845214 ler−0 wu−0
Insert size

D
en

si
ty

0 100 200 300 400

0.
00

0
0.

00
2

0.
00

4
line = MAGIC.433 , Chr = 4

breakpoint: 6483045 − 6483094 wu−0 ler−0
Insert size

D
en

si
ty



−1000 0 1000 2000 3000

0e
+

00
2e

−
04

4e
−

04
6e

−
04

line = MAGIC.433 , Chr = 4

breakpoint: 7024062 − 7024069 ler−0 wu−0
Insert size

D
en

si
ty

100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4

line = MAGIC.433 , Chr = 4

breakpoint: 7640746 − 7640868 wu−0 ler−0
Insert size

D
en

si
ty

0 100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4

line = MAGIC.433 , Chr = 4

breakpoint: 8278571 − 8278572 ler−0 wu−0
Insert size

D
en

si
ty

150 250 350 450

0.
00

0
0.

00
2

0.
00

4
line = MAGIC.433 , Chr = 4

breakpoint: 8286757 − 8286777 wu−0 ler−0
Insert size

D
en

si
ty



0 100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4
line = MAGIC.433 , Chr = 4

breakpoint: 10812400 − 10812513 ler−0 can−0
Insert size

D
en

si
ty

1200 1250 1300 1350

0.
00

0
0.

01
0

0.
02

0

line = MAGIC.433 , Chr = 4

breakpoint: 10923101 − 10923162 can−0 ler−0
Insert size

D
en

si
ty

100 200 300 400

0.
00

0
0.

00
2

0.
00

4
0.

00
6

line = MAGIC.433 , Chr = 4

breakpoint: 11005116 − 11005173 ler−0 can−0
Insert size

D
en

si
ty

0 100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4
line = MAGIC.433 , Chr = 4

breakpoint: 11039272 − 11039328 can−0 ler−0
Insert size

D
en

si
ty



100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4
line = MAGIC.433 , Chr = 5

breakpoint: 229449 − 229471 oy−0 bur−0
Insert size

D
en

si
ty

100 200 300 400

0.
00

0
0.

00
2

0.
00

4

line = MAGIC.433 , Chr = 5

breakpoint: 707192 − 707193 bur−0 oy−0
Insert size

D
en

si
ty

100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4

line = MAGIC.433 , Chr = 5

breakpoint: 5665152 − 5665201 oy−0 no−0
Insert size

D
en

si
ty

100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4
line = MAGIC.433 , Chr = 5

breakpoint: 5668576 − 5668624 no−0 sf−2
Insert size

D
en

si
ty



0 100 200 300 400 500 600

0.
00

0
0.

00
2

0.
00

4
line = MAGIC.433 , Chr = 5

breakpoint: 6589893 − 6589987 sf−2 oy−0
Insert size

D
en

si
ty

100 200 300 400

0.
00

0
0.

00
2

0.
00

4
0.

00
6

line = MAGIC.433 , Chr = 5

breakpoint: 7889464 − 7889557 oy−0 bur−0
Insert size

D
en

si
ty

100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4
0.

00
6

line = MAGIC.433 , Chr = 5

breakpoint: 9119993 − 9120022 bur−0 hi−0
Insert size

D
en

si
ty

−100 0 100 200 300 400 500

0.
00

00
0.

00
15

0.
00

30
line = MAGIC.433 , Chr = 5

breakpoint: 9882929 − 9882934 hi−0 sf−2
Insert size

D
en

si
ty



100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4
0.

00
6

line = MAGIC.433 , Chr = 5

breakpoint: 10075388 − 10075404 sf−2 hi−0
Insert size

D
en

si
ty

100 300 500 700

0.
00

0
0.

00
2

0.
00

4
0.

00
6

line = MAGIC.433 , Chr = 5

breakpoint: 10817012 − 10817172 hi−0 sf−2
Insert size

D
en

si
ty

100 200 300 400

0.
00

0
0.

00
2

0.
00

4
0.

00
6

line = MAGIC.433 , Chr = 5

breakpoint: 11124271 − 11124295 sf−2 hi−0
Insert size

D
en

si
ty

−1e+05 1e+05 3e+05

0e
+

00
2e

−
06

4e
−

06
6e

−
06

line = MAGIC.433 , Chr = 5

breakpoint: 11738433 − 11738434 hi−0 sf−2
Insert size

D
en

si
ty



0 200 400 600

0.
00

0
0.

00
1

0.
00

2
0.

00
3

line = MAGIC.433 , Chr = 5

breakpoint: 12025141 − 12025224 sf−2 hi−0
Insert size

D
en

si
ty

100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4

line = MAGIC.433 , Chr = 5

breakpoint: 13119827 − 13119860 hi−0 sf−2
Insert size

D
en

si
ty

100 200 300 400

0.
00

0
0.

00
2

0.
00

4
0.

00
6

line = MAGIC.433 , Chr = 5

breakpoint: 13204221 − 13204247 sf−2 hi−0
Insert size

D
en

si
ty

100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4
0.

00
6

line = MAGIC.433 , Chr = 5

breakpoint: 13772052 − 13772055 hi−0 tsu−0
Insert size

D
en

si
ty



100 200 300 400

0.
00

0
0.

00
2

0.
00

4
0.

00
6

line = MAGIC.433 , Chr = 5

breakpoint: 13992212 − 13992219 tsu−0 sf−2
Insert size

D
en

si
ty

100 200 300 400

0.
00

0
0.

00
2

0.
00

4

line = MAGIC.433 , Chr = 5

breakpoint: 14094613 − 14094622 sf−2 zu−0
Insert size

D
en

si
ty

0 100 200 300 400 500 600

0.
00

0
0.

00
2

0.
00

4

line = MAGIC.433 , Chr = 5

breakpoint: 14128993 − 14129162 zu−0 sf−2
Insert size

D
en

si
ty

50 100 150 200 250 300 350

0.
00

0
0.

00
4

0.
00

8
line = MAGIC.433 , Chr = 5

breakpoint: 14487838 − 14487873 sf−2 wu−0
Insert size

D
en

si
ty



100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4
line = MAGIC.433 , Chr = 5

breakpoint: 14675079 − 14675080 wu−0 sf−2
Insert size

D
en

si
ty

0 200 400 600 800

0.
00

0
0.

00
2

0.
00

4

line = MAGIC.433 , Chr = 5

breakpoint: 15074393 − 15074431 sf−2 bur−0
Insert size

D
en

si
ty

100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4

line = MAGIC.433 , Chr = 5

breakpoint: 15094730 − 15095043 bur−0 sf−2
Insert size

D
en

si
ty

100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4
0.

00
6

line = MAGIC.433 , Chr = 5

breakpoint: 15276698 − 15276912 sf−2 hi−0
Insert size

D
en

si
ty



100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4
0.

00
6

line = MAGIC.433 , Chr = 5

breakpoint: 15878071 − 15878106 hi−0 sf−2
Insert size

D
en

si
ty

150 200 250 300 350 400

0.
00

0
0.

00
4

0.
00

8

line = MAGIC.433 , Chr = 5

breakpoint: 16142125 − 16142131 sf−2 hi−0
Insert size

D
en

si
ty

100 200 300 400

0.
00

0
0.

00
2

0.
00

4

line = MAGIC.433 , Chr = 5

breakpoint: 16745971 − 16745991 hi−0 sf−2
Insert size

D
en

si
ty

100 200 300 400 500 600

0.
00

0
0.

00
2

0.
00

4
line = MAGIC.433 , Chr = 5

breakpoint: 17050377 − 17050455 sf−2 hi−0
Insert size

D
en

si
ty



100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4
line = MAGIC.433 , Chr = 5

breakpoint: 17417240 − 17417326 hi−0 ler−0
Insert size

D
en

si
ty

100 200 300 400

0.
00

0
0.

00
2

0.
00

4
0.

00
6

line = MAGIC.433 , Chr = 5

breakpoint: 17528042 − 17528066 ler−0 hi−0
Insert size

D
en

si
ty

0 100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4

line = MAGIC.433 , Chr = 5

breakpoint: 17656162 − 17656248 hi−0 ler−0
Insert size

D
en

si
ty

0 100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4
line = MAGIC.433 , Chr = 5

breakpoint: 18265259 − 18265281 ler−0 hi−0
Insert size

D
en

si
ty



0 100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4
line = MAGIC.433 , Chr = 5

breakpoint: 18495301 − 18495396 hi−0 ler−0
Insert size

D
en

si
ty

100 200 300 400

0.
00

0
0.

00
2

0.
00

4
0.

00
6

line = MAGIC.433 , Chr = 5

breakpoint: 19414848 − 19414862 ler−0 hi−0
Insert size

D
en

si
ty

100 200 300 400

0.
00

0
0.

00
2

0.
00

4
0.

00
6

line = MAGIC.433 , Chr = 5

breakpoint: 20346117 − 20346120 hi−0 ler−0
Insert size

D
en

si
ty

0 100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4
line = MAGIC.433 , Chr = 5

breakpoint: 21013826 − 21013831 ler−0 ws−0
Insert size

D
en

si
ty



100 200 300 400 500 600

0.
00

0
0.

00
2

0.
00

4
line = MAGIC.433 , Chr = 5

breakpoint: 21015205 − 21016583 ws−0 hi−0
Insert size

D
en

si
ty

100 200 300 400 500

0.
00

0
0.

00
2

0.
00

4

line = MAGIC.433 , Chr = 5

breakpoint: 21753206 − 21753307 hi−0 can−0
Insert size

D
en

si
ty

150 200 250 300 350 400

0.
00

0
0.

00
4

0.
00

8

line = MAGIC.433 , Chr = 5

breakpoint: 22150363 − 22150375 can−0 hi−0
Insert size

D
en

si
ty


